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How does an expert system work and discuss the advantages of rnachme

learning approach over expert system? : :

How do you determine a machine learning system is robust‘?

Suppose in a hidden Markov model (HMM), the sequence length is 10 and the
states are C, M & E as provided in HMM model (Supplementary data). For

calculation of best path, how many paths do you need to explore if you have to

follow exhaustive method? S

What is posterior decoding which uses. forward and backward algorithms to

determine probability of a state emlttlng particular symbol w.rt. a given

sequence? G

Draw equivalence between dynamlc programmmg and Viterbi algorithm by

taking suitable example?

Transition and em1ss1on probablhtles of an initial HMM model will be provided
(Supplementary data) "Two sequences are given as “H L H” and “L H L” where
H is hydrophlhe and-L, is lipophilic amino acids. Implement the Baum-Welch
iteration for ] step to determine new transition and emission probabilities and
also prewde new HMM model. How the learning is done in HMM? (9-+1)

10 Marks



